
 

la B 6,91 all coordinates in meters
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e For a clock carried by the rocket thetwo events occur at the same

place at the rocket So the interval
must just be due to the time
difference the time difference

according to a clock on the rocket is 8M
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trip so the answer is 2513 m

b The speedof light is 1 in convenient
units so the time is also
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24 Just Gm transverse dimensions are
not affected and the
transverse dimension
which is traversed

e Just Come twice is 3M

I could have asked one more question

f How much longer ratio is the round
trip in the lab frame than in the
mirror frame
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This better agree with the time dilation
factor
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4 Doppler Shift
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